
Ejercicio	
  de	
  Asignación	
  de	
  Direcciones	
  IP	
  

	
  
Considere	
  la	
  siguiente	
  topología	
  de	
  red	
  sencilla	
  

	
  

	
  

Rellene	
  la	
  longitud	
  de	
  prefijo	
  CIDR	
  y	
  el	
  número	
  de	
  direcciones	
  para	
  cada	
  subred	
  y	
  calcule	
  el	
  
número	
  total	
  de	
  direcciones	
  IP	
  para	
  esta	
  red.	
  

Red	
   	
   #	
  Nodos	
   Tamaño	
  CIDR	
  	
   #	
  Direcciones	
  
Router	
  a	
  Router	
   2	
   	
   	
  
Red	
  de	
  Servidores	
   35	
   	
   	
  
Facultad	
  de	
  Ciencias	
   100	
   	
   	
  
Biblioteca	
   200	
   	
   	
  
Edificio	
  Literatura	
   60	
   	
   	
  
Edificio	
  Administración	
   40	
   	
   	
  
Red	
  Inalámbrica	
   200	
   	
   	
  
Número	
  total	
  de	
  nodos	
   	
   	
   	
  
Bloque	
  CIDR	
  necesario	
   	
   	
   	
  
	
   	
   	
  

	
  


